MGT 315 OPERATIONS RESERCH CAT 

ATTEMPT ALL THE QUESTIONS

Question one 
The supervisor of a machine shop in ABC limited has four jobs which are to be processed though a particular kind of machine. He has identified 4 machines which can be assigned for the processing of the job. However all these machines differ in speed and time taken in processing. The time estimate of processing the jobs on the designated machines is given below;

	
	
	Jobs 
	
	

	Machines
	E
	F
	G
	H

	A
	15
	20
	19
	17

	B
	21
	21
	20
	17

	C
	16
	16
	14
	17

	D
	20
	18
	16
	15


The supervisor wants to assign the machines to the jobs so a s to minimize total processing time. 

Solve the above assignment problem and show the optimal maximization allocation of the jobs to the appropriate machines                
Question two 

The cost matrix of a transportation problem of ABC limited is as follows. 

	
	           A
	        B
	           C
	SUPPLY



	           P
	          5
	         10
	         7
	     27

	           Q
	          2        
	         12
	         9
	     12


	           R
	           1       
	         18
	          7            
	      24


	     DEMAND
	          9
	          15
	            18
	


Required 

Formulate a linear programming problem to minimize cost and solve it. 

Question three

Solve the following using simplex model;

Maximize profit, Z  = 20,000  XA  + 12,000 XB

Subject to constraints 

i)  10000 XA + 20000 XB   < 20 000   (capital limitation year 0)

ii)  20000 XA​ + 10000  XB  < 25 000   (capital limitation year 1)

iii)  30000 XA​ + 0XB  < 15,000  (capital limitation year 2)

i) Xj  > 0 (non-negativity) for all values of j

